

Να αποδείξετε τα παρακάτω:

$$\alpha) A \subseteq B \Leftrightarrow A \cap B = A$$

$$\beta) A \subseteq B \Leftrightarrow A \cup B = B$$

$$\gamma) (A \cap B) - \Gamma = A \cap (B - \Gamma)$$

$$\delta) (A \cup B) - \Gamma = (A - \Gamma) \cup (B - \Gamma)$$

$$\epsilon) \Gamma - (A \cap B) = (\Gamma - A) \cup (\Gamma - B)$$

$$\sigma\tau) \Gamma - (A \cup B) = (\Gamma - A) \cap (\Gamma - B)$$

ΛΥΣΗ

α) Έστω  $A \subseteq B$  και θάδο  $A \cap B = A$ .

ΓΕΝΙΚΑ,  $A \cap B \subseteq A$  αρκεί να δο  $A \subseteq B$ .

Έστω,  $x \in A \xrightarrow{A \subseteq B} x \in B \Rightarrow x \in A \wedge x \in B \Rightarrow x \in (A \cap B)$

Άρα,  $A \subseteq A \cap B$ , συνεπώς  $A \cap B = A$

Αντίστροφα, έστω  $A \cap B = A$  και θάδο  $A \subseteq B$

ΓΕΝΙΚΑ  $A \cap B \subseteq B \xrightarrow{A \cap B = A} A \subseteq B$ .

β) Έστω  $A \subseteq B$  και θάδο  $A \cup B = B$

ΓΕΝΙΚΑ,  $B \subseteq A \cup B$  αρκεί να δο  $A \cup B \subseteq B$

Έστω,  $x \in (A \cup B) \xrightarrow{A \subseteq B} x \in (B \cup B) \Rightarrow x \in B$

Άρα,  $A \cup B \subseteq B$ , συνεπώς  $A \cup B = B$

Αντίστροφα, έστω  $A \cup B = B$  και θάδο  $A \subseteq B$

ΓΕΝΙΚΑ  $A \subseteq A \cup B \xrightarrow{A \cup B = B} A \subseteq B$ .

γ) Έστω  $x \in [(A \cap B) - \Gamma] \Leftrightarrow x \in (A \cap B) \wedge x \notin \Gamma \Leftrightarrow$

$$\Leftrightarrow \underbrace{(x \in A \wedge x \in B)}_{(p \wedge q)} \wedge \underbrace{x \notin \Gamma}_r \Leftrightarrow \underbrace{x \in A}_p \wedge \underbrace{(x \in B \wedge x \notin \Gamma)}_{(q \wedge r)} \Leftrightarrow$$

$$\Leftrightarrow x \in A \wedge (x \in (B - \Gamma)) \Leftrightarrow x \in [A \cap (B - \Gamma)]$$

$$\delta) \text{ Έστω } x \in [(A \cup B) - \Gamma] \Leftrightarrow x \in (A \cup B) \wedge x \notin \Gamma \Leftrightarrow$$

$$\Leftrightarrow (x \in A \vee x \in B) \wedge x \notin \Gamma \Leftrightarrow (x \in A \wedge x \notin \Gamma) \vee (x \in B \wedge x \notin \Gamma)$$

$$\Leftrightarrow x \in (A - \Gamma) \vee x \in (B - \Gamma) \Leftrightarrow$$

$$\Leftrightarrow x \in [(A - \Gamma) \cup (B - \Gamma)]$$

$x \notin (A \cap B) \Leftrightarrow$   
 $\Leftrightarrow \sim x \in (A \cap B) \Leftrightarrow$  *διηγούμαι*  
 $\Leftrightarrow x \notin A \vee x \notin B$

$$\epsilon) \text{ Έστω } x \in [\Gamma - (A \cap B)] \Leftrightarrow x \in \Gamma \wedge x \notin (A \cap B) \Leftrightarrow$$

$$\Leftrightarrow x \in \Gamma \wedge (\sim x \in (A \cap B)) \Leftrightarrow x \in \Gamma \wedge (x \notin A \vee x \notin B) \Leftrightarrow$$

$$\Leftrightarrow (x \in \Gamma \wedge x \notin A) \vee (x \in \Gamma \wedge x \notin B) \Leftrightarrow$$

$$\Leftrightarrow x \in (\Gamma - A) \vee x \in (\Gamma - B) \Leftrightarrow$$

$$\Leftrightarrow x \in [(\Gamma - A) \cup (\Gamma - B)]$$

$$\sigma\tau) \text{ Έστω } x \in [\Gamma - (A \cup B)] \Leftrightarrow x \in \Gamma \wedge x \notin (A \cup B) \Leftrightarrow$$

$$\Leftrightarrow x \in \Gamma \wedge (\sim x \in (A \cup B)) \Leftrightarrow x \in \Gamma \wedge (x \notin A \wedge x \notin B) \Leftrightarrow$$

$$\Leftrightarrow (x \in \Gamma \wedge x \in \Gamma) \wedge (x \notin A \wedge x \notin B) \Leftrightarrow$$

$$\Leftrightarrow (x \in \Gamma \wedge x \notin A) \wedge (x \in \Gamma \wedge x \notin B) \Leftrightarrow$$

$$\Leftrightarrow x \in (\Gamma - A) \wedge x \in (\Gamma - B) \Leftrightarrow$$

$$\Leftrightarrow x \in [(\Gamma - A) \cap (\Gamma - B)]$$